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SSC CHSL Tier-I :-Pattern

Sections/Subjects Number of Questions 

each section

Maximum Marks Time Duration

General Awareness 25 50 60 minutes

Reasoning/General 

Intelligence

25 50

English Language (Basic 

Knowledge)

25 50

Quantitative Aptitude 

(Basic Arithmetic Skill)

25 50

Total 100 200
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What is the height of a solid right circular cylinder whose radius is 3 cm and total 

surface area is 60 π cm2?

एक ठोस लम्ब वतृ्तीय बेलन की ऊँचाई क्या ह ैजिसकी जिज्या 3 सेमी और कुल पषृ्ठीय के्षिफल 60 π
सेमी2 ह?ै

a) 3 cm

b) 5 cm

c) 7 cm

d) 9 cm
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(62 × 62 × 62) − 3(62 × 62 × 22) + 3(62 × 22 × 22) − (22 × 22 × 22)

8 × 8 × 8

a) 225

b) 1250

c) 125

d) 25
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a) 2 2

b) 6 2

c) 3 2

d) 8 2

The base of a parallelogram is twice as long as its corrosponding height. If the 

area of the parallelogram is 144 cm2, find the mentioned height.

एक समाांतर चतरु्ुुि का आधार इसकी सांगत ऊां चाई से दोगनुा लांबा ह।ै यजद समाांतर चतरु्ुुि का 

क्षेिफल 144 सेमी2 ह,ै तो उजललजित ऊँचाई ज्ञात कीजिए।
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a) 512

b) 192

c) 128

d) 8

What is the mean proportional between 64 and 4096?

64 और 4096 के बीच माध्य समानपुाती क्या ह?ै
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• Fifth level a) 90 days

b) 100 days

c) 80 days

d) 120 days

A and B together can finish a job in 40 days. A can do the same job on her 

own in 60 days. How long will B take to do the three-fourth of the same work 

all alone?

A और B जमलकर जकसी काम को 40 जदनों में परूा कर सकते हैं। A उसी कायु को 60 जदनों में 

स्वयां कर सकता ह।ै B उसी कायु का तीन-चौथाई अकेले परूा करने में जकतना समय लेगा?
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a) ₹560

b) ₹506

c) ₹650

d) ₹605

A sum of ₹5,000 was deposited for 3 years at 10% per annum, compounded 

annually. The difference between the interest for 2 years and that for 3 years is:

₹5,000 की राजि 3 वर्ु के जलए 10% प्रजत वर्ु की दर से िमा की गई, िो वाजरु्क रूप से सांयोजित होती 

ह।ै 2 वर्ु के ब्याि और 3 वरु् के ब्याि के बीच का अांतर ह:ै
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a) 90°

b) 60°

c) 45°

d) 30°

If cotθ = cot 30° cot 60° and θ is an acute angle, then 2θ is equal to:

यजद cotθ = cot 30° cot 60° और θ एक न्यनू कोण ह,ै तो 2θ बराबर ह:ै
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a) ₹75

b) ₹65

c) ₹50

d) ₹60

A shopkeeper mixes three types of rice costing ₹50 per kg, ₹60 per kg and ₹75 per 

kg in the ratio of 3 : 1 : 2. The average cost of the mixture per kg is:

एक दकुानदार ₹ 50 प्रजत जकग्रा, ₹ 60 प्रजत जकग्रा और ₹ 75 प्रजत जकग्रा की लागत वाले तीन प्रकार के 

चावलों को 3 : 1 : 2 के अनपुात में जमलाता ह।ै प्रजत जकग्रा जमश्रण की औसत लागत ह:ै
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a) 8

b) 6

c) 10

d) 12

If x + 2y = 10 and 2xy = 9, then one of the value of x - 2y is:

यजद x + 2y = 10 और 2xy = 9, तो x - 2y का एक मान ह:ै
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a) 32.60%

b) 32.80%

c) 30.60%

d) 31.60%

One single discount which is equivalent to 20%, 10% and 5% is given by:

एक एकल छूट िो 20%, 10% और 5% के समतलुय ह,ै द्वारा जदया िाता ह:ै
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a) ₹5000

b) ₹3000

c) ₹1000

d) ₹800

P sold an item to Q at a 20% gain, and Q sold it to R at a loss of 10%. If R 

bought the item for ₹1,080, then at what price did P purchase it?

P ने एक वस्त ुQ को 20% के लार् पर बेची, और Q ने इसे R को 10% की हाजन पर बेचा। 

यजद R ने वह वस्त ु₹1,080 में िरीदी, तो P ने उसे जकस कीमत पर िरीदा?
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b) 50°, 200°

c) 200°, 60°

d) 30°, 60°

A householder spent his monthly salary of ₹7,200 on different items. If he spent 

₹4,000 on food and ₹400 on education, then the central angles respectively are:

एक गहृस्वामी ने अपना माजसक वेतन ₹ 7,200 जवजर्न्न मदों पर िचु जकया। यजद वह र्ोिन पर ₹4,000 

और जिक्षा पर ₹400 िचु करता ह,ै तो कें द्रीय कोण क्रमिः हैं:
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b) ₹126

c) ₹117

d) ₹128

Rice worth ₹96 per kg and ₹104 per kg are mixed with a third variety in the ratio 1 : 

1 : 2. If the mixture is worth ₹113 per kg, the price of the third variety of rice per kg 

will be:

₹96 प्रजत जकग्रा और ₹104 प्रजत जकग्रा के चावल को एक तीसरी जकस्म के साथ 1:1:2 के अनपुात में 

जमलाया िाता ह।ै यजद जमश्रण का मलूय ₹113 प्रजत जकग्रा ह,ै तो तीसरी जकस्म के चावल की कीमत प्रजत 

जकग्रा होगी:
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a) ₹1,520

b) ₹1,290

c) ₹1,320

d) ₹1,620

Successive discounts of 10% and 20% are given on the purchase of a purse . If the 

price of the purse is ₹2,250, find the selling price.

एक पसु की िरीद पर क्रमिः 10% और 20% की छूट दी िाती ह।ै यजद पसु का मलूय ₹2,250 ह,ै तो 

जवक्रय मलूय ज्ञात कीजिए।
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a) 1134 cm2

b) 2826 cm2

c) 1413 cm2

d) 1130 cm2

What is the surface area of a sphere whose diameter is 30 cm?

एक गोले का पषृ्ठीय के्षिफल क्या ह ैजिसका व्यास 30 सेमी ह?ै



Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level

a) ₹80,605

b) ₹62,695

c) ₹79,690

d) ₹79,695

Find the compound interest on ₹5,50,000 at 7% per annum for 2 years, 

compounded annually.

₹5,50,000 पर 7% प्रजत वर्ु की दर से 2 वरु् का चक्रवजृि ब्याि ज्ञात कीजिए, िो वाजर्ुक रूप 

से सांयोजित होता ह।ै
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